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Practice Test

)

Determine whether each pair of functions are
inverse functions.

l.f(x):4x—9,g(x):x_9

4
2 f) = —= 800 =3 —2

If f(x) = 2x — 4 and g(x) = x2 + 3, find each
value.

3. (f+9))
4 (f =)
5. (f-8)()
d
6. ( 5 (x)
7. MULTIPLE CHOICE Which inequality represents
the graph below?
‘10 4
6
4 rd
9 —1

A y=vV2x
B y<=v2x
Cy<2Vx

D none of these

Solve each equation.

8. Vb+15 =30+ 1

9. V2x =Vx -4

10. \/y +2+9=14

M V2w—-1+11=18
12. \V4x + 28 =/6x + 38
13.14+Vx+5=vx+12
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Simplify.
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. (5+V3)(7 - 2v3)
. (6 - 4v2)(=5+V2)
3\/93+5\/5_4
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3 1
b2 — b2

Solve each inequality.
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26

27

28.

. V3x+1>=5
3+ Vo —-1<11

11—\ +1<-6

. SKYDIVING The approximate time ¢ in
seconds that it takes an object to fall a

distance of d feet is given by t = 4/ %

Suppose a parachutist falls 11 seconds
before the parachute opens. How far does
the parachutist fall during this time period?

GEOMETRY The
area of a triangle
with sides of 12 6
length a, b, and ¢
is given by

\/s(s —a)(s — b)(s — o),
where s = %(a + b + ¢). If the lengths of the

9

sides of a triangle are 6, 9, and 12 feet, what
is the area of the triangle expressed in
radical form?
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